



DOI: <https://doi.org/10.52714/dthu.14.5.2025.1501>

## MATKOWSKI'S FIXED POINT THEOREM IN $\mathbb{R}^m$ - $b$ -METRIC SPACES

Vo Thi Le Hang<sup>1,2</sup>

<sup>1</sup>Post-graduate student, Ho Chi Minh City University of Education, Vietnam

<sup>2</sup>School of Education, Dong Thap University, Cao Lanh 870000, Vietnam

Corresponding author, Email: [vtlhang@dthu.edu.vn](mailto:vtlhang@dthu.edu.vn)

### Article history

Received: 14/8/2024; Received in revised form: 21/9/2024; Accepted: 28/9/2024

### Abstract

In this paper, we aim to extend the fixed point theorem in metric spaces to  $\mathbb{R}^m$ - $b$ -metric spaces. By constructing iterated sequences and proving that they are Cauchy sequences, we have established and proven the Matkowski fixed point theorem in  $\mathbb{R}^m$ - $b$ -metric spaces. In addition, an example is presented to illustrate the obtained result.

**Keywords:** Contraction, fixed point,  $\mathbb{R}^m$ - $b$ -metric space.

## ĐỊNH LÝ ĐIỂM BẤT ĐỘNG MATKOWSKI TRONG KHÔNG GIAN $\mathbb{R}^m$ - $b$ -METRIC

Võ Thị Lệ Hằng<sup>1,2</sup>

<sup>1</sup>Nghiên cứu sinh, Trường Sư phạm Thành phố Hồ Chí Minh, Việt Nam

<sup>2</sup>Trường Sư phạm, Trường Đại học Đồng Tháp, Việt Nam

Tác giả liên hệ, Email: [vtlhang@dthu.edu.vn](mailto:vtlhang@dthu.edu.vn)

### Lịch sử bài báo

Ngày nhận: 14/8/2024; Ngày nhận chỉnh sửa: 21/9/2024; Ngày duyệt đăng: 28/9/2024

### Tóm tắt

Trong bài viết này, chúng tôi đặt mục tiêu mở rộng định lý điểm bất động trong không gian metric sang không gian  $\mathbb{R}^m$ - $b$ -metric. Bằng phương pháp xây dựng dãy lặp và chứng minh dãy lặp là dãy Cauchy, chúng tôi đã thiết lập và chứng minh định lý điểm bất động Matkowski trong không gian  $\mathbb{R}^m$ - $b$ -metric. Ngoài ra, chúng tôi đưa ra một ví dụ để chứng minh cho kết quả đạt được.

**Từ khóa:** Co, điểm bất động, không gian  $\mathbb{R}^m$ - $b$ -metric.

Cite: Vo, T. L. H. (2025). Matkowski's fixed point theorem in  $\mathbb{R}^m$ - $b$ -metric spaces. *Dong Thap University Journal of Science*, 14(5), 67-74. <https://doi.org/10.52714/dthu.14.5.2025.1501>  
Copyright © 2025 The author(s). This work is licensed under a CC BY-NC 4.0 License.

## 1. Introduction

In 1974, by replacing the range  $\mathbb{R}_+$  in the notion of a metric space with  $\mathbb{R}_+^m$ , Perov introduced the notion of a  $\mathbb{R}^m$ -metric space (Perov, 1974). In 1993, Czerwik introduced the notion of a  $b$ -metric space. It is defined by adding the constant  $s \geq 1$  in the right of the triangle inequality of the notion of a metric space. Before that, Coifman and Guzmán (1970) mentioned this notion with the name of *quasimetric space*. As a generalization of a  $b$ -metric space and a  $\mathbb{R}^m$ -metric space, Boriceanu (2009) introduced the notion of  $\mathbb{R}^m$ - $b$ -metric space. Many authors have studied fixed point theorems in  $\mathbb{R}^m$ - $b$ -metric spaces (Boriceanu, 2009).

The Banach contraction theorem, which is known as one of the basic theorems of analysis, was given by Banach (1922). Because of its wide applications, authors have still been studying and generalizing it in different directions. Many kinds of contraction maps have been introduced. Boy and Wong (1969) introduced a new contraction map in metric spaces by replacing the contraction constant  $k \in [0,1)$  with the upper semi-continuous function from the right  $\psi$  on  $\mathbb{R}_+$  satisfying  $0 \leq \psi(t) < t$  for all  $t > 0$ . After that, Matkowski showed that when the condition of the upper semi-continuity of  $\psi$  is replaced by the condition of the increasing of  $\psi$  in the theorem of Boy and Wong, the result of this theorem still holds (Matkowski, 1975). For more details, we refer the reader to (Kannan, 1969; Ćirić, 1974; Kirk & Shahzad, 2014).

First, we recall the following definitions to be used in the this paper.

**Definition 1.1.** Let  $\mathbb{R}_+^m = \{x = (x_1, \dots, x_m) : x_i \in \mathbb{R}_+, i = 1, \dots, m\}$ ,  $e = (1, 1, \dots, 1) \in \mathbb{R}_+^m$ . For all  $x, y \in \mathbb{R}_+^m$ ,  $x = (x_1, \dots, x_m)$ ,  $y = (y_1, \dots, y_m)$ , we denote

(1)  $x \leq y$  if and only if  $x_i \leq y_i$  for all  $i = 1, \dots, m$ .

(2)  $x < y$  if and only if  $x_i < y_i$  for all  $i = 1, \dots, m$ .

(3) The norm  $\|\cdot\|$  in  $\mathbb{R}_+^m$  is called *monotone with respect to the partial ordering  $\leq$  in  $\mathbb{R}_+^m$*  if for all  $x, y \in \mathbb{R}_+^m$ ,  $x \leq y$ , then  $\|x\| \leq \|y\|$ .

**Definition 1.2** (Perov, 1964). Let  $X$  be a nonempty set and a function  $d: X \times X \rightarrow \mathbb{R}_+^m$  satisfy for all  $x, y, z \in X$ ,

(1)  $d(x, y) = 0$  if and only if  $x = y$ .

(2)  $d(x, y) = d(y, x)$ .

(3)  $d(x, y) \leq d(x, z) + d(z, y)$ .

Then  $d$  is called a  $\mathbb{R}^m$ -metric and  $(X, d, s)$  is called a  $\mathbb{R}^m$ -metric space.

**Definition 1.3** (Czerwik, 1993, page 5). Let  $X$  be a nonempty set,  $s \geq 1$  and a function  $d: X \times X \rightarrow \mathbb{R}_+$  satisfy for all  $x, y, z \in X$ ,

(1)  $d(x, y) = 0$  if and only if  $x = y$ .

(2)  $d(x, y) = d(y, x)$ .

(3)  $d(x, y) \leq s(d(x, z) + d(z, y))$ .

Then  $d$  is called a  $b$ -metric and  $(X, d, s)$  is called a  $b$ -metric space.

**Definition 1.4** (Boriceanu, 2009, Definition 2.1). Let  $X$  be a nonempty set,  $s \geq 1$  and a function  $d: X \times X \rightarrow \mathbb{R}_+^m$  satisfy for all  $x, y, z \in X$ ,

(1)  $d(x, y) = 0$  if and only if  $x = y$ .

(2)  $d(x, y) = d(y, x)$ .

$$(3) d(x, y) \leq s(d(x, z) + d(z, y)).$$

Then we have

(1)  $d$  is called a  $\mathbb{R}^m$ - $b$ -metric and  $(X, d, s)$  is called a  $\mathbb{R}^m$ - $b$ -metric space.

(2) The sequence  $\{z_n\}$  is called *convergent to  $z$*  if  $\lim_{n \rightarrow \infty} d(z_n, z) = (0, \dots, 0)$ , written by  $\lim_{n \rightarrow \infty} z_n = z$ .

(3) The sequence  $\{z_n\}$  is called *Cauchy* if  $\lim_{n, m \rightarrow \infty} d(z_n, z_m) = (0, \dots, 0)$ .

(4) The  $\mathbb{R}^m$ - $b$ -metric space  $(X, d, s)$  is called *complete* if every Cauchy sequence is a convergent sequence.

**Remark 1.5.** (1) Some authors also call the  $\mathbb{R}^m$ - $b$ -metric space as the *generalized  $b$ -metric space* (Bazine, 2022) or the *vector-valued  $b$ -metric space* (Boriceanu, 2009).

(2) If  $m = 1$ , then a  $\mathbb{R}^m$ - $b$ -metric space  $(X, d, s)$  is a  $b$ -metric space in the sense of Czerwik (Czerwik, 1998).

(3) If  $s = 1$ , then a  $\mathbb{R}^m$ - $b$ -metric space  $(X, d, 1)$  is a  $\mathbb{R}^m$ -metric space in the sense of Perov (Perov, 1964).

**Theorem 1.6** (Kirk & Sims, 2001, Theorem 3.4). Assume that

(1)  $(X, d)$  is a metric space and a function  $\psi: \mathbb{R}_+ \rightarrow \mathbb{R}_+$  is such that

(a)  $\psi$  is increasing, that is, for all  $x < y$  implies  $\psi(x) \leq \psi(y)$ .

(b) For all  $t \in \mathbb{R}_+$ ,  $\lim_{n \rightarrow \infty} \psi^n(t) = 0$ .

(2) The map  $f: X \rightarrow X$  satisfies for all  $x, y \in X$ ,

$$d(fx, fy) \leq \psi(d(x, y)).$$

Then  $f$  has a unique fixed point  $x^*$  and  $\lim_{n \rightarrow \infty} f^n x = x^*$  for all  $x \in X$ .

In this paper, we establish Matkowski's fixed point theorem in  $\mathbb{R}^m$ - $b$ -metric spaces. Moreover, we give an example to illustrate the obtained result.

## 2. Main results

First, we establish the Matkowski's fixed point theorem in  $\mathbb{R}^m$ - $b$ -metric spaces as follows.

**Theorem 2.1.** Assume that

(1)  $(X, d, s)$  is a  $\mathbb{R}^m$ - $b$ -metric space and a function  $\psi: \mathbb{R}_+^m \rightarrow \mathbb{R}_+^m$  is such that

(a)  $\psi$  is increasing, that is, for all  $x < y$  implies  $\psi(x) \leq \psi(y)$ .

(b) For all  $t \in \mathbb{R}_+^m$ ,

$$\lim_{n \rightarrow \infty} \psi^n(t) = 0. \tag{2.1}$$

(2) The map  $f: X \rightarrow X$  satisfies for all  $x, y \in X$ ,

$$d(fx, fy) \leq \psi(d(x, y)). \tag{2.2}$$

Then  $f$  has a unique fixed point  $x^*$  and  $\lim_{n \rightarrow \infty} f^n x = x^*$  for all  $x \in X$ .

*Proof.* From (2.1) we deduce that  $\lim_{n \rightarrow \infty} \psi^n((1, \dots, 1)) = (0, \dots, 0)$ . Then there exists  $n_0$  such that

$$\psi^{n_0}((1, \dots, 1)) < \left(\frac{1}{2s}, \dots, \frac{1}{2s}\right). \quad (2.3)$$

Let  $x \in X$ . Put  $g = f^{n_0}$  and put  $x_m = g^m(x)$  for all  $m \in \mathbb{N}$ . By (2.2) we deduce  $d(x_{m+1}, x_m) = d(g^m(g(x)), g^m(x)) \leq \dots \leq \psi^{m \cdot n_0}(d(g(x), x))$ .

Taking the limit as  $m \rightarrow \infty$  in (2.4), we get  $\lim_{m \rightarrow \infty} d(x_{m+1}, x_m) = (0, \dots, 0)$ . So there exists  $m_0$  such that for all  $m \geq m_0$ ,

$$d(x_{m+1}, x_m) < \left(\frac{1}{2s}, \dots, \frac{1}{2s}\right). \quad (2.5)$$

We denote  $B[x, r] = \{y \in \mathbb{R}^m : d(x, y) \leq r\}$

where  $x \in \mathbb{R}^m, r \in \mathbb{R}_+$ . Now for each  $u \in B[x_{m_0}, 1]$  and by (2.3) we have

$$\begin{aligned} d(g(u), g(x_{m_0})) &= d(f^{n_0}(u), f^{n_0}(x_{m_0})) \\ &\leq \psi^{n_0}(d(u, x_{m_0})) \\ &\leq \psi^{n_0}((1, \dots, 1)) \\ &< \left(\frac{1}{2s}, \dots, \frac{1}{2s}\right). \end{aligned} \quad (2.6)$$

We first show that  $g$  has a fixed point  $x^*$ . Indeed, let  $u \in B[x_{m_0}, 1]$ . By (2.5) and (2.6) we have

$$\begin{aligned} d(g(u), x_{m_0}) &\leq s \left[ d(g(u), g(x_{m_0})) + d(g(x_{m_0}), x_{m_0}) \right] \\ &\leq s \left[ \left(\frac{1}{2s}, \dots, \frac{1}{2s}\right) + \left(\frac{1}{2s}, \dots, \frac{1}{2s}\right) \right] \\ &= (1, \dots, 1). \end{aligned}$$

So,  $g(u) \in B[x_{m_0}, 1]$ . Then, we conclude that  $g: B[x_{m_0}, 1] \rightarrow B[x_{m_0}, 1]$ . For all  $n, m \geq m_0$  we find that

$$\begin{aligned} d(x_n, x_m) &\leq s \left[ d(x_n, x_{m_0}) + d(x_{m_0}, x_m) \right] \\ &\leq s \left[ (1, \dots, 1) + (1, \dots, 1) \right] \\ &= (2s, \dots, 2s). \end{aligned} \quad (2.7)$$

By (2.2) we find that for  $m \geq n \geq m_0$ ,

$$\begin{aligned}
 d(x_n, x_m) &= d(g^n(x), g^m(x)) \\
 &= d(g^{n-m_0} g^{m_0}(x), g^{m-m_0} g^{m_0}(x)) \\
 &= d(g^{n-m_0}(x_{m_0}), g^{m-m_0}(x_{m_0})) \\
 &= d(f^{(n-m_0)n_0}(x_{m_0}), f^{(m-m_0)n_0}(x_{m_0})) \\
 &\leq \psi \left( d \left( f^{(n-m_0)n_0-1}(x_{m_0}), f^{(m-m_0)n_0-1}(x_{m_0}) \right) \right) \\
 &\leq \psi^{(n-m_0)n_0} \left( d \left( x_{m_0}, f^{(m-m_0)n_0-(n-m_0)n_0}(x_{m_0}) \right) \right) \\
 &= \psi^{(n-m_0)n_0} \left( d \left( x_{m_0}, f^{(m-n)n_0}(x_{m_0}) \right) \right) \\
 &= \psi^{(n-m_0)n_0} \left( d(x_{m_0}, x_{m-n+m_0}) \right) \\
 &\leq \psi^{(n-m_0)n_0}((2s, \dots, 2s)).
 \end{aligned}$$

Taking the limit as  $n, m \rightarrow \infty$  in (2.7) and using (2.1) we find that  $\lim_{n, m \rightarrow \infty} d(x_n, x_m) = (0, \dots, 0)$ . So  $\{x_m\}$  is a Cauchy sequence in  $(X, d)$ . Since  $(X, d)$  is complete, there exists  $\lim_{m \rightarrow \infty} x_m = x^*$ .

From the assumption of  $\psi$  we find that  $\lim_{t \rightarrow (0^+, \dots, 0^+)} \psi(t) = (0, \dots, 0)$ . Then for all  $\{y_n\} \subset X$ ,  $\lim_{n \rightarrow \infty} y_n = y$ , we have

$$\lim_{n \rightarrow \infty} d(f(y_n), f(y)) \leq \lim_{n \rightarrow \infty} \psi(d(y_n, y)) = (0, \dots, 0).$$

Then we get

$$\lim_{n \rightarrow \infty} f(y_n) = f(y). \tag{2.8}$$

We have that

$$\lim_{n \rightarrow \infty} g(y_n) = \lim_{n \rightarrow \infty} f^{n_0}(y_n) = f^{n_0}(y) = g(y). \tag{2.9}$$

Then

$$x^* = \lim_{m \rightarrow \infty} x_m = \lim_{m \rightarrow \infty} x_{m+1} = \lim_{m \rightarrow \infty} g(x_m) = g(x^*).$$

So  $g$  has a fixed point. From (2.2) we have

$$\begin{aligned}
 d(x^*, g^m(f(x))) &= d(g^m(x^*), g^m(f(x))) \\
 &= d(f^{n_0 m}(x^*), f^{n_0 m}(f(x))) \\
 &\leq \psi^{n_0 m}(d(x^*, f(x)))
 \end{aligned} \tag{2.10}$$

and

$$\begin{aligned}
 d(x^*, g^m(x)) &= d(g^m(x^*), g^m(x)) \\
 &= d(f^{n_0 m}(x^*), f^{n_0 m}(x)) \tag{2.11} \\
 &\leq \psi^{n_0 m}(d(x^*, x)).
 \end{aligned}$$

Taking the limit as  $m \rightarrow \infty$  in (2.10) and (2.11) we get

$$\lim_{m \rightarrow \infty} d(x^*, g^m(f(x))) = \lim_{m \rightarrow \infty} d(x^*, g^m(x)) = (0, \dots, 0).$$

Then  $\lim_{m \rightarrow \infty} g^m(f(x)) = \lim_{m \rightarrow \infty} g^m(x) = x^*$  in  $(X, d)$ . By (2.10) we have

$$f(x^*) = \lim_{m \rightarrow \infty} f(g^m(x)) = \lim_{m \rightarrow \infty} f(f^{n_a m}(x)) = \lim_{m \rightarrow \infty} g^m(f(x)) = x^*.$$

This proves that  $x^*$  is a fixed point of  $f$ .

Next, we prove the uniqueness of fixed points of  $f$ . On the contrary, let  $x^*$  and  $y^*$  be two distinct fixed points of  $f$ . Then  $d(x^*, y^*) > (0, \dots, 0)$ . Therefore,

$$d(x^*, y^*) = d(f(x^*), f(y^*)) \leq \psi(d(x^*, y^*)) < d(x^*, y^*).$$

It is a contradiction.

Finally, we show that  $\lim_{n \rightarrow \infty} f^n(x) = x^*$ . Note that  $\lim_{m \rightarrow \infty} g^m(y) = x^*$  for all  $y \in X$ . For each  $n \in \mathbb{N}$ , there exists  $l_n$  such that  $n = l_n n_0 + r_n$  with  $0 \leq r_n \leq n_0 - 1$ . So

$$f^n(x) = f^{l_n n_0 + r_n}(x) = g^{l_n}(f^{r_n}(x)).$$

Fix  $r_n = r \in [0, n_0 - 1]$ . Then

$$\lim_{l_n \rightarrow \infty} f^{l_n n_0 + r}(x) = \lim_{l_n \rightarrow \infty} g^{l_n}(f^r(x)) = x^*.$$

It implies that  $\lim_{n \rightarrow \infty} f^n(x) = x^*$ .

From Theorem 2.1, we infer the following corollaries.

**Corollary 2.2** (Kirk & Shazad, 2014, Theorem 12.2). Assume that

(1)  $(X, d, s)$  is a  $b$ -metric space and a function  $\psi: \mathbb{R}_+ \rightarrow \mathbb{R}_+$  is such that

(a)  $\psi$  is increasing.

(b) For all  $t \in \mathbb{R}_+$ ,  $\lim_{n \rightarrow \infty} \psi^n(t) = 0$ .

(2) The map  $f: X \rightarrow X$  satisfies for all  $x, y \in X$ ,

$$d(f(x), f(y)) \leq \psi(d(x, y)).$$

Then  $f$  has a unique fixed point  $x^*$  and for all  $x \in X$   $\lim_{n \rightarrow \infty} f^n(x) = x^*$ .

**Corollary 2.3** (Kirk & Sims, 2001, Theorem 3.4). Assume that

(1)  $(X, d, s)$  is a metric space and a function  $\psi: \mathbb{R}_+ \rightarrow \mathbb{R}_+$  is such that

(a)  $\psi$  is increasing.

(b) For all  $t \in \mathbb{R}_+$ ,  $\lim_{n \rightarrow \infty} \psi^n(t) = 0$ .

(2) The map  $f: X \rightarrow X$  satisfies for all  $x, y \in X$ ,

$$d(f(x), f(y)) \leq \psi(d(x, y)).$$

Then  $f$  has a unique fixed point  $x^*$  and for all  $x \in X$   $\lim_{n \rightarrow \infty} f^n(x) = x^*$ .

Now, we give an example to illustrate the obtained result.

**Example 2.4.** Assume that

(1)  $X = [0, \infty)$  and for all  $x, y \in X$ ,

$$d(x, y) = (|x - y|^2, |x - y|^2).$$

(2) A function  $\psi: [0, \infty) \times [0, \infty) \rightarrow [0, \infty) \times [0, \infty)$  satisfies

$$\psi(x, y) = \left( \frac{x}{1+x}, \frac{y}{1+y} \right), \text{ for all } x, y \in [0, \infty).$$

(3) A map  $f: [0, \infty) \rightarrow [0, \infty)$  satisfies

$$f(x) = \frac{x}{1+x}, \text{ for all } x \in [0, \infty).$$

Then  $f$  has a unique fixed point  $x^* = (0,0)$ .

*Proof.* We have  $(X, d, 2)$  is a complete  $\mathbb{R}^2$ - $b$ -metric space. Since  $h'(t) = \frac{1}{(1+t)^2}$ , where  $h(t) = \frac{t}{1+t}$ ,  $t \in [0, \infty)$ , then  $h$  is increasing. It implies that  $\psi$  is increasing. Moreover, we have

$$\lim_{n \rightarrow \infty} \psi^n(x, y) = \lim_{n \rightarrow \infty} \left( \frac{x}{1+nx}, \frac{y}{1+ny} \right) = (0,0).$$

For all  $x, y \in X$ , we have

$$\begin{aligned} d(f(x), f(y)) &= \left( \left| \frac{x}{1+x} - \frac{y}{1+y} \right|^2, \left| \frac{x}{1+x} - \frac{y}{1+y} \right|^2 \right) \\ &\leq \left( \left( \frac{|x-y|}{1+|x-y|} \right)^2, \left( \frac{|x-y|}{1+|x-y|} \right)^2 \right) \\ &\leq \left( \frac{|x-y|^2}{1+|x-y|^2}, \frac{|x-y|^2}{1+|x-y|^2} \right) \\ &\leq \psi(d(x, y)). \end{aligned}$$

By Theorem 2.1, we have  $f$  has a unique fixed point  $x^*$  and  $\lim_{n \rightarrow \infty} f^n(x) = x^*$  for all  $x \in X$ .

For  $x = (1,1)$ , then  $\lim_{n \rightarrow \infty} f^n(1,1) = \lim_{n \rightarrow \infty} \left( \frac{1}{n+1}, \frac{1}{n+1} \right) = (0,0)$ . Therefore,  $x^* = (0,0)$  is a unique fixed point of  $f$ .

**Acknowledgements:** This research is supported by the project B2024-SPD-08.

### References

- Banach, S. (1922). Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales. *Fundamenta mathematicae*, 3(1), 133-181.
- Bazine, S. (2022). Fixed point of four maps in generalized  $b$ -metric spaces. *International Journal of Nonlinear Analysis and Applications*, 13(1), 2723-2730. <https://doi.org/10.22075/ijnaa.2021.24581.2776>
- Boriceanu, M. (2009). Fixed point theory on spaces with vector-valued  $b$ -metrics. *Demonstratio Mathematica*, 42(4), 825-836. <https://doi.org/10.1515/dema-2009-0415>
- Boyd, D. W., & Wong, J. S. (1969). On nonlinear contractions. *Proceedings of the American Mathematical Society*, 20(2), 458-464. <https://doi.org/10.2307/2035677>
- Ćirić, L. B. (1974). A generalization of Banach's contraction principle. *Proceedings of the American Mathematical society*, 45(2), 267-273. <https://doi.org/10.1090/S0002-9939-1974-0356011-2>

- Coifman, R. R., & de Guzmán, M. (1970). Singular integrals and multipliers on homogeneous spaces. *Rev. Un. Mat. Argentina*, 25(137-143), 71.
- Czerwik, S. (1993). Contraction mappings in  $b$ -metric spaces. *Acta mathematica et informatica universitatis ostraviensis*, 1(1), 5-11.
- Kannan, R. (1969). Some results on fixed points—II. *The American Mathematical Monthly*, 76(4), 405-408.
- Kirk, W., & Shahzad, N. (2014). Fixed point theory in distance spaces.
- Kirk, W. A., & Sims, B. (2001). *Handbook of metric fixed point theory*, Kluwer Academic.
- Matkowski, J. (1975). Integrable solutions of functional equations, *Dissertationes Math.*, 127 (1975), 1-68.
- Perov, A. I. (1964). On the Cauchy problem for a system of ordinary differential equations. *Pvblizhen. Met. Reshen. Differ. Uvavn*, 2(1964), 115-134.